AMENDMENT NUMBER 1 TO ENTERPRISE SUBSCRIPTION AGREEMENT #8433

THIS FIRST AMENDMENT to Enterprise Subscription Agreement # 8433, is entered into between County of El Dorado, a political subdivision of the state of California, on behalf of its Health and Human Services Agency, Social Services Division, as represented by the Chair of the Board of Supervisors ("Customer") with its principal location at 3057 Briw Road, Placerville, California 95667, and JUMP Technology Services"), whose principal place of business is at 1201 Covell Village #436, Edmond, Oklahoma 73003.

WITNESSETH:

WHEREAS, Customer and JUMP Technology Services entered into an Enterprise Subscription Agreement # 8433 ("Agreement"); dated July 1, 2024;

WHEREAS, the parties to the Agreement desire to amend the Agreement to increase the not-to-exceed amount from \$34,190.76 to \$38,925.48;

WHEREAS, the parties to the Agreement desire to add two additional services to the scope of services;

NOW, THEREFORE, Customer and JUMP Technology Services do mutually agree as follows (check those applicable):

1) Paragraph 3 of Page 1 of the Agreement is amended to read:

The term of this Agreement shall be from 7/01/2024 through 6/30/2027. The maximum amount of this contract shall not exceed \$38,925.48.

2) Section 2, Schedule D: Statement of Services, is amended to add the following after the Fee Table listed:

X Services. Schedule D (Amendment 1), which is attached hereto and incorporated herein, is hereby amended to include two (2) Additional Services to add Home Safe Reporting modules, as reflected in this amended table, with the addition of the service and rate in row number 4 for the period beginning July 1, 2025 for 2025-2026, and the addition of the service and rate in row number 7 for the period beginning July 1, 2025 for 2026-2027.

For services beginning July 1, 2024, the effective date of the Agreement, and continuing through July 1, 2025, for the services provided herein, the billing rates shall be in accordance with **Schedule D** incorporated herein and made by reference a part hereof.

Schedule D

No.	Item	Description	Eff Date	End Date	Qty	Price	Extended
1	Home Safe Reporting Modules	Module includes: Maintenance of Home Safe Assessment, Statio portal for data correction and partner program sharing	07/01/2024	06/30/2025	12	\$197.28	\$2,367.36
JUMP Te	chnology Services	s. LLC	1	of 9			#8433

First Amendment

		capability, download of HMIS data set, download of HSAPS19, County copy of HSAPS19, ticket system support of product module, and training materials. Year One License and					
2	LEAPS 11-20	Hosting for 11-20 users with HIPAA compliance. Service credits may be exchanged for training services, data export requests, data modification, refreshing training databases, custom programming,	07/01/2024	06/30/2025	12	\$800.65	\$9,607.80
3	Service Credit	and consulting services. Exchange rates are based on custom quote requests or training ordered from the training catalog. Credits must be prepaid and applied to customer account prior to quote requests or training orders. Year Two	07/01/2024	06/30/2025	8	\$125.00	\$1,000.00
4	LEAPS 11-20	License and Hosting for 11- 20 users with HIPAA compliance. Service credits may be exchanged for training services, data export	07/01/2025	06/30/2026	12	\$800.65	\$9,607.80
5	Service Credit	requests, data modification, refreshing training databases, custom programming, and consulting services.	07/01/2025	06/30/2026	8	\$125.00	\$1,000.00
JUMP Techno	ology Services,	LLC	2 0	of 9			#8433 First Amendment

6	LEAPS 11-20 Service Credit	Exchange rates are based on custom quote requests or training ordered from the training catalog. Credits must be prepaid and applied to customer account prior to quote requests or training orders. Year Three License and Hosting for 11-20 users with HIPAA compliance. Service credits may be exchanged for training services, data export requests, data modification, refreshing training databases, custom programming, and consulting services. Exchange rates are based on custom quote requests or training ordered from the training catalog. Credits must be prepaid and applied to sustain the consultance of	07/01/2026	06/30/2027	12	\$800.65 \$125.00	\$9,607.80 \$1,000.00
	Order Item	and applied to customer account prior to quote requests or training orders.			72		\$34,190.76
	Totals				72		
	Subtotal						\$34,190.76
	Order Total						\$34,190.76

For the period beginning on July 1, 2025, and continuing through the remaining term of the Agreement, for the services provided herein, the billing rates shall be in accordance with **Schedule D (Amendment 1)** marked, "Amended Fee Table" incorporated herein and made by reference a part hereof.

All other references to **Schedule D** remain unchanged in the Agreement.

Except as expressly amended herein, all prov	isions of the Agreement	shall remain in full force and e	effect.
JUMP Technology Services, LLC	4 of 9	#	#8433

Except as herein amended, all other parts and sections of that Agreement #8433 shall remain unchanged and in full force and effect.

Requesting Contract Administrator Concurrence:

By: Laura Walny
Laura Walny (Oct 22, 2025 08:46:57 PDT)

Laura Walny, LCSW, ACSW Program Manager, Protective Services Health and Human Services Agency Dated: 10/22/2025

Dated: 10/22/2025

Requesting Department Head Concurrence:

By: Olivia Byron-Cooper (Oct 22, 2025 12:26:42 PDT)

Olivia Byron-Cooper, MPH Director Health and Human Services Agency **IN WITNESS WHEREOF**, the parties hereto have executed this First Amendment to Agreement for Services #8433 on the dates indicated below.

-- COUNTY OF EL DORADO --

		Da	ated:
	Ву: _		Chair
			Board of Supervisors "County"
ATTEST: Kim Dawson Clerk of the Board of Supervisors			
By:		Dated: _	
JUMP TECHI	NOLOGY	SERVIC	CES, LLC
By: Denise M. Brinkmeyer Denise M. Brinkmeyer (Oct 23, 2025 10/8:18 CDT) Denise Brinkmeyer		Dated:	10/23/2025
Chief Executive Officer			

"Consultant"

Schedule D (Amendment 1) Amended Fee Table

No.	Item	Description	Date	Qty	Price	Extended
1	Home Safe Reporting Modules	Module includes: Maintenance of Home Safe Assessment, Statio portal for data correction and partner program sharing capability, download of HMIS data set, download of HSAPS19, County copy of HSAPS19, ticket system support of product module, and training	07/01/2024	12	\$197.28	\$2,367.36
2	LEAPS 11 - 20	Materials. Year One License and Hosting for 11-20 users with HIPAA compliance.	07/01/2024	12	\$800.65	\$9,607.80
3	Service Credit	Service credits may be exchanged for training services, data export requests, data modification, refreshing training databases, custom programming, and consulting services. Exchange rates are based on custom quote requests or training ordered from the training catalog. Credits must be prepaid and applied to customer account prior to quote requests or training orders.	07/01/2024	8	\$125.00	\$1,000.00
4	Home Safe Reporting Modules	Module includes: Maintenance of	07/01/2025	12	\$197.28	\$2,367.36

		Home Safe Assessment, Statio portal for data correction and partner program sharing capability, download of HMIS data set, download of HSAPS19, County copy of HSAPS19, ticket system				
		support of product module, and				
		training				
	T T T T C 11 00	materials.	07/01/0005	1.0	2000 65	<u> </u>
5	LEAPS 11 - 20	Year Two License and Hosting for 11-20 users with	07/01/2025	12	\$800.65	\$9,607.80
6	Sarvice Credit	HIPAA compliance.	07/01/2025	Ω	\$125 00	\$1 000 00
6	Service Credit	Service credits may be exchanged for training services, data export requests, data modification, refreshing training databases, custom programming, and consulting services. Exchange rates are based on custom quote requests or training ordered from the training catalog. Credits must be prepaid and applied to customer account prior to quote	07/01/2025	8	\$125.00	\$1,000.00
		requests or training orders.				
7	Home Safe	Module includes:	07/01/2026	12	\$197.28	\$2,367.36
	Reporting Modules	Maintenance of Home Safe Assessment, Statio portal for data correction and partner program sharing capability,				
		download of HMIS				
	l	L	1		i	#0.400

8	LEAPS 11 - 20	data set, download of HSAPS19, County copy of HSAPS19, ticket system support of product module, and training materials. Year Three License and Hosting for 11-20 users with HIPAA compliance.	07/01/2026	12	\$800.65	\$9,607.80
9	Service Credit	Service credits may be exchanged for training services, data export requests, data modification, refreshing training databases, custom programming, and consulting services. Exchange rates are based on custom quote requests or training ordered from the training catalog. Credits must be prepaid and applied to customer account prior to quote requests or training orders.	07/01/2026	8	\$125.00	\$1,000.00
					TOTAL	936,923.48

JUMP Technology Services, LLC Exhibit B California Levine Act Statement

California Government Code section 84308, commonly referred to as the "Levine Act," prohibits any officer of El Dorado County from participating in any action related to a contract if he or she accepts, solicits, or directs any political contributions totaling more than five hundred dollars (\$500) within the previous twelve (12) months, and for twelve (12) months following the date a final decision concerning the contract has been made, from the person or company awarded the contract. The Levine Act also requires disclosure of such contribution by a party to be awarded a specific contract. An officer of El Dorado County includes the Board of Supervisors, any elected official, and the chief administrative officer (collectively "Officer"). It is the Contractor's responsibility to confirm the appropriate "Officer" and name the individual(s) in their disclosure.

Have you or your company, or any agent on behalf of you or your company, made any political contribution(s), or been solicited to make a contribution by an Officer or had an Officer direct you to make a contribution of more than \$500 to an Officer of the County of El Dorado in the twelve months preceding the date of the submission of your proposals or the anticipated date of any Officer action related to this contract?

	_YES	\checkmark	NC)	ΝΙ/Δ
If yes	, please	ident	ify the	person(s) by name:	14//
If no,	please	type N	V/A.		

Do you or your company, or any agency on behalf of you or your company, anticipate or plan to make any political contribution(s) of more than \$500 to an Officer of the County of El Dorado in the twelve months following any Officer action related to this contract?

YES NO	NI/A
If yes, please identify the person(s) by name	_: N/A
If no, please type N/A.	

Answering YES to either of the two questions above does not preclude the County of El Dorado from awarding a contract to your firm or any taking any subsequent action related to the contract. It does, however, preclude the identified Officer(s) from participating in any actions related to this contract.

10/23/2025	Denise M. Brinkmeyer Denise M. Brinkmeyer (Oct 23, 2025 10/28:18 CDT)				
Date JUMP Technology Services	Signature of authorized individual Denise M. Brinkmeyer				
Type or write name of company	Type or write name of authorized individual				